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Study the following information carefully and answer the given questions: 
An apple pie of R cm radius has to cut into x identical pieces. Area of top  

surface of each piece was 0.77 𝟐 but later on it was found 50% of pie 
was  rotten so the remaining 50% was cut into (x – 3) pieces of area 0.616 

𝟐 each.
िनÌनिलिखत जानकारी का Åयानपूवªक अÅययन कर¤ और िदए गए ÿĳŌ के उ°र द¤:
R सेमी िýºया के एक सेब कì कचौड़ी को x समान टुकड़Ō म¤ काटना पड़ता है। ÿÂयेक 

टुकड़े कì शीषª सतह का ±ेýफल 0.77 𝟐 था, लेिकन बाद म¤ यह पाया गया िक 
कचौड़ी का 50% भाग सड़ा हòआ था, इसिलए शेष 50% को 0.616 𝟐 के ±ेýफल 
के ÿÂयेक (x - 3) टुकड़Ō म¤ काट िदया गया।
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Find the value of x.
x का मान ²ात कर¤।
A. 10     B. 12       C. 8      D. 6     E. None of these
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Find the circumference of the original pie.
मूल कचौड़ी कì पåरिध ²ात कìिजए।

A.
𝟖𝟖

𝟓𝟎
B. 

𝟖𝟖

𝟐𝟓
C. 

𝟏𝟕𝟔

𝟐𝟓
D. 

𝟏𝟕𝟔

𝟓𝟎
B. E. None of these
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If entire pie would have been cut into 11 identical pieces what would 
have been top surface area of each piece?
यिद पूरे कचौड़ी को 11 समान टुकड़Ō म¤ काट िदया जाता, तो ÿÂयेक टुकड़े का शीषª 
सतह ±ेý ³या होता?

A. 0.64 𝟐 B. 0.56 𝟐 C. 0.28 𝟐 D. 0.42 𝟐 E.    
None of these
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Pie chart given below shows the percentage distribution 
of total number of male faculties in six different schools.
Total male faculties in all schools together = 8400
नीचे िदया गया पाई चाटª छह अलग-अलग ÖकूलŌ म¤ पŁुष संकायŌ 
कì कुल सं´या का ÿितशत िवतरण दशाªता है।
सभी ÖकूलŌ म¤ िमलाकर कुल पŁुष संकाय = 8400

A
10%

B
20%

C
24%

D, 
16%

E
12%

F
18%

Total male faculties = 8400
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If the ratio of male faculties to female faculties in school 
A and school B is 2 : 5 and 4 : 3 respectively. Then find 
the difference of total female faculties in school A and 
school B?
यिद Öकूल A और Öकूल B म¤ पŁुष संकायŌ का मिहला संकायŌ से 
अनुपात øमशः 2: 5 और 4: 3 है। तो Öकूल A और Öकूल B म¤ कुल 
मिहला संकायŌ का अंतर ²ात कìिजये?
A. 420      B. 840      C. 640      D. 530     E. 620
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If total number of faculties in school F is 1820. Then 
female faculties in school F are what percentage 
more/less than total male faculties in school B?
यिद Öकूल F म¤ संकायŌ कì कुल सं´या 1820 है। तो Öकूल F म¤ 
मिहला संकाय, Öकूल B म¤ कुल पुŁष संकायŌ कì तुलना म¤ िकतने 
ÿितशत अिधक/कम ह§?
A. 78.6%  B. 83.67%  C. 81.67%  D. 84.67%   E. 79.67%
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Total male faculties = 8400
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What is the average of total number of male faculties in 
school A, C and F?
Öकूल A, C और F म¤ पŁुष संकायŌ कì कुल सं´या का औसत 
िकतना है?
A. 1256      B. 1346      C. 1546      D. 1456     E. 1686
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Total male faculties = 8400
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If total number of faculties in school A is 1340. The 
number of female faculties in school B is 80 more than 
female faculties in school A. Calculate female faculties in 
school B is what percentage of male faculties in school A 
(approx.)?
यिद Öकूल A म¤ कुल संकायŌ कì सं́ या 1340 है। Öकूल B म¤ मिहला 
संकायŌ कì सं´या Öकूल A म¤ मिहला सकंायŌ कì तुलना म¤ 80 
अिधक है। Öकूल B म¤ मिहला संकायŌ कì गणना कर¤, Öकूल A म¤ 
पुŁष संकायŌ का िकतना ÿितशत (लगभग) है?
A. 69%    B. 59%    C. 56%     D. 45%     E. 66%
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The number of female faculties in schools A and B both 
is 20% more than male faculties . The number of female 
faculties in school C is 50% more than male faculties. 
Then calculate total number of female faculties in school 
A, B and C?
Öकूल A और B दोनŌ म¤ मिहला संकायŌ कì सं´या पुŁष संकायŌ कì 
तुलना म¤ 20% अिधक है। Öकूल C म¤ मिहला िश±कŌ कì सं´या 
पुŁष संकायŌ कì तुलना म¤ 50% अिधक है। तो Öकूल A, B और C 
म¤ मिहला संकाय कì कुल सं́ या कì गणना कर¤?
A. 6054    B. 6078    C. 6068     D. 6058     E. 6048
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There are 450 coupons which can be used in Pedicure and Hair cutting. 
Ratio between Males to Females who use their coupons in Hair cutting 
is 13 : 7. Number of males who use their coupons in Pedicure is 72 more 
than number of females who use their coupon in Hair cutting. Total 
number of males who use their coupon in Pedicure and Haircutting 
together is 174 more than total number of females who use their coupon 
in Pedicure and Haircutting together.
450 कूपन ह§ िजनका उपयोग पेडी³योर और हेयर किटंग म¤ िकया जा सकता है। पुŁषŌ 
और  मिहलाओ ंका अनुपात जो हेयर किटंग म¤ अपने कूपन का उपयोग करते ह§, 13: 7 
है। पेडी³योर म¤ अपने कूपन का उपयोग करने वाले पŁुषŌ कì सं́ या, उन मिहलाओ ं
कì सं́ या से 72 अिधक है, जो हेयर किटंग म¤ अपने कूपन का उपयोग करती ह§। 
पेडी³योर और हेयरकिटंग म¤ अपने कूपन का उपयोग करने वाले पŁुषŌ कì कुल सं́ या 
मिहलाओ ंकì कुल सं́ या जो पेडी³योर और हेयरकिटंग म¤ अपने कूपन का उपयोग 
करते ह§, से 174 अिधक है।
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There are 450 coupons which can be used in Pedicure and Hair 
cutting. Ratio between Males to Females who use their coupons in 
Hair cutting is 13 : 7. Number of males who use their coupons in 
Pedicure is 72 more than number of females who use their coupon 
in Hair cutting. Total number of males who use their coupon in 
Pedicure and Haircutting together is 174 more than total number of 
females who use their coupon in Pedicure and Haircutting together.
450 कूपन ह§ िजनका उपयोग पेडी³योर और हेयर किटंग म¤ िकया जा सकता है। 
पुŁषŌ और  मिहलाओ ंका अनुपात जो हेयर किटंग म¤ अपने कूपन का उपयोग 
करते ह§, 13: 7 है। पेडी³योर म¤ अपने कूपन का उपयोग करने वाले पुŁषŌ कì 
सं´या, उन मिहलाओ ंकì सं´या से 72 अिधक है, जो हेयर किटंग म¤ अपने कूपन 
का उपयोग करती ह§। पेडी³योर और हेयरकिटंग म¤ अपने कूपन का उपयोग करने 
वाले पुŁषŌ कì कुल सं́ या मिहलाओ ंकì कुल सं´या जो पेडी³योर और 
हेयरकिटंग म¤ अपने कूपन का उपयोग करते ह§, से 174 अिधक है।

P H

M

F

Total
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Males who use their coupon in Pedicure is what 
percent of the Males who use their coupons in 
Haircutting?
पेडी³योर म¤ अपने कूपन का उपयोग करने वाले पुŁष, बाल 
कटवाने म¤ अपने कूपन का उपयोग करने वाले पŁुषŌ का िकतना 
ÿितशत है?
A. 200%       B. 100%        C. 0%             D. 150%             
E. None of these

P H
M 156 156
F 54 84
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Find the ratio between Total number persons who use 
their coupons in Pedicure to total number of persons 
who use their coupons in Haircutting?
पेडी³योर म¤ अपने कूपन का उपयोग करने वाले और बाल 
कटवाने म¤ अपने कूपन का उपयोग करने वाले कुल लोगŌ का 
अनुपात ²ात कìिजये।
A. 52 : 23         B. 8 : 9          C. 8 : 7            D. 7 : 8            
E. None of these

P H
M 156 156
F 54 84
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Females who use their coupon in Haircutting is how 
much more than Females who use their coupon in 
Pedicure?
हेयरकिटंग म¤ अपने कूपन का उपयोग करने वाली मिहलाए ं
पेडी³योर म¤ अपने कूपन का उपयोग करने वाली मिहलाओ ंकì 
तुलना म¤ िकतनी अिधक ह§?
A. 15         B. 45           C. 30           D. 60          E. None 
of these

P H
M 156 156
F 54 84
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Out of males who use their coupons in Haircutting, 
25% belongs to city A, then find number of males who 
use their coupons in Haircutting which doesn’t belongs 
to city A?
हेयरकिटंग म¤ अपने कूपन का उपयोग करने वाले पŁुषŌ म¤ से, 
25% शहर A से संबंिधत है, िफर उन पुŁषŌ कì सं́ या ²ात 
कìिजये जो हेयरकिटंग म¤ अपने कूपन का उपयोग करते ह§ जो शहर 
A से सबंंिधत नहé है?
A. 108           B. 126             C. 117            D. 135                
E. None of these

P H
M 156 156
F 54 84
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Thank You
धÛयवाद 


